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Biology Model Paper-1

Cellulose is a

A) mineral B) protein C) fat D) Carbohydrate
?oen?géaé 2.8

A) 9z oS00  B) @835 C) &3 D) své‘b}_w@ew
Goitre is due to the deficiency of

A) Calcium B) Zinc C) Selenium D) lodine
mantd BRE%H0 Lo BeniHehod ?

A) =9afo B)z2c§ C) 2dc%Ho D) 933 &S

In the body excess of fat is stored in

A) Heart B) body C) Gall bladder D) Adipose tissue

$0808° whEor ot Y @ Eard® Jend ©hEod?

A) 503 B) sggweroo  C) davdaho D) e2&a%¢ Seozzee0

The story of vitamins dates back to
DeadodHoe Hey FrE°gETeen o FEoer8 BoHID?
A) 15 B) 16 C) 17 D) 18

The vitamin required for coagulation of blood is
8¥o HEEQTR8 @esééasadﬁog QeI
A) B, B)C C)K D) B

1

Inflammation of lymph vessels and lymph glands results in a disease called
A) Malaria B) Filaria C) Encephalitis D) Hepatitis

PRV Teeen, FPRES (ot o0 So 533 &80 H?
A) S5o8805m B) £°cSargh C) eoarsd 25 D) TeHBB

Carriers of plague bacteria are

A) rats B) Mosquitoes  C) Housefly D) Monkeys
Q0 89A0D erfdatre arieEo
A) denden B) &%&en C) &sifen D) 85%¢%Hen
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T.B, Mumps and whooping cough are spread by
A) Direct contact B) Droplet of saliva  C) Reservoir D) Vector

Eob, KB, 5008 & TegEhE® SoEken?
A) B8 588 B) ererae &obs C) espgad £ D) aes5e%0

The originator of first aid was

A) Esmarch B) FW.Went C) Funk D) Darwin

(BE0 DESYD eselogeer?

A) adsrE) B) w82, 5858 C) &S D) asa.&ea;g?g R0
The type of fracture where bone is broken at several places

A) Simple fracture B) Comminuted fracture

C) Compund fracture D) Impact fracture

D BERS D308 DHHE® ALY Heodte DHHE0b.

A) 88 508 QY B) D90l 5H

C) 280308 &Y D) 2°8& Hearso £ 8508 QD

In plants exchange of gases takes plac through
A) Stomata B) Palisade tissue C) spongy tissue D) midrib

3008 &° o S8 & 2380 B0
A) Hg8ogeen B) Soersed Seveeero O) S0 Eeverrer0 D) Saess Sady

Maximum rate of respiration takes place at
A) 10°C-25°C  B) 30°C-45°C

C) 60°C-100°C D) greater than 100°C
({05 TG Bew 28R G

A) 10°C-25°C B) 30°C-45°C C) 60°C-100°C D) 100° E0) 8
The rate of respiration per minute in a new born baby

A) 18 times B) 32 times C) 26 times D) 16 times

PG 3PS FDHE® PR FocdBad Sen?

A) 18 & B) 82 &tk C) 26 & D) 16 &%

A 13 chambered heart occurs in

A) Leech B) Earthworm C) cockroach D) snail

13 Ko 0“50@650&30 o 220¢58) ?

A) =X B) aedarsm C) &S°6o¥ D) 8¢
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Blood pressure of a person is measured by
A) Galvanometer B) sphygmomanometer
C) barometer D) thermometer

Y OB HB¥S0?
A) moeeSPund B) ?oq)ﬁ'sééﬁﬁsfbead) C) e8%80eH

In man normal blood pressure is

SrSYHAE® ey BEHES0
A) 80/120 B) 100/120 C) 120/100

Which organ is called 'Grave yard of red blood cells'?
A) spleen B) Pancreas C) Liver

QY G Eeossne Kyaed aeds o BR) SO ?
A) S B) 88050 C) s8ao

Blood cells without nucleus are

A) Lymphocytes B) Basophils C) Monocytes
So(880 B &% Bewo?

A) 8ot B) &3%,%6 C) 3265
Blood of one person is transfused into another through his
A) muscle B) trachea C) vein

28 58 55eQ) $508° 5588 BD TegTe A AH?

A) Bo&s0o B) aeafomeyo C) &8

D) C:SU"éc‘fJOéDd)

D) 120/80

D) Heart

D) KP@CSOSJO

D) Erythrocytes
D) Q885

D) artery

D) &0

Antigens A and B are absent in persons belong to blood group

38 SZsren @, Hen BoXr 8 EgS580?
A) B B) AB C)O

water loss from plants is prevented by a hormone
300K, D ${F0oT $eEBoT 66557
A) GA B) NA C) IAA

Which of the following is a mixed gland
A) Pituitary B) adrenal C) pancreas

808 aPQE° D& QFE (b ?
A) 2SR B) 0655, C) §%&0
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D) ABA

D) Ovary
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In diseases like polio, the cells that get destroyed by virus are
A) Monocytes B) Erythrocytes C) motorneurons D) Sensory neurons

FBOR3e S0e3 mgéaéj S8R S $20DJESH  Eegeen
A) 33 0ew B) 28 &%  C) Desard Sezoen D) %?ESWC‘% Segeen

The number of pairs of spinal nerves in man are
Sr$HAS® )Tt s Sosg

A) 30 B) 31 C) 32 D) 33

In curry leaf and neem these are the vegetative reproductive organs

A) Leaf buds B) eyes C) Root buds D) Stem cuttings
50355, 38 B0E’ THDrSRE S ?

A) sg8fsen B) gsye C) SchBmifen D) se03e8S0
In which precise area meiosis takes place?

A) stamen B) Anther lobe C) Pollen mother cell D) pollen grains
EonsEes DS & 8ob TPESE® BT & ario8® athiHEoh ?

A)BS80 B) 858 Qario C) Hoeis Sr&Eea0 D) é@ﬁéaaoé)

The organism that reproduces by conjugation is

A) amoeba B) euglena C) paramoecium D) bacteria
Soakrifo trgoe Sy b £D?

A) edoer B) afofi C) 5shaano D) e88as
The spawn of frog consists of

A) Ova B) sperm mother cells

C) spermatozoa D) ova and spermatozoa

5603 @"DS@‘S SOR ?

A) o Seeen B) % &) Begren

C) HE Sevoen D) %HE8eseen, ol Segeen

Foetus is connected to the wall of vterus of the mother by

A) Placenta B) umbilical cord

C) Fallopian tub e D) Ephydimis

$9 Hoeyfodh D8, (g SO Q0%ea0)

A) 23o°anS) B) o8 &g

C) S&5HoHS me¥o D) Q&0
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Number of ova released at a time in female human being is?
Qo e5F0 He edhy womre Sowg?

A) 4 B) 3 C)?2 D)1
HIV comprises this enzyme

A) Reverse transcriptase B) Lactose

C) Sucrose D) All of the above

HIV ¢$8 3% Qo8

A)BsEy ¢S Ry 28 B) o8&

C)oig*s D) 258

The test to detect HIV antibodies is

A) ELISA Test B) western blot test

C) PCR test D) All of the above

HIV 6282 3o H8%

A) ELISA 8% B) 338 axeS 556

C) Qe H8g D) 258

The concentration of HIV more in

A) blood B) sweat C) saliva D) Tears
HIV 0068 mEds® ¢od (8580

A) &¥o B) 308 C) ererzeo D) 8%
HIV is generally transmitted through

A) blood B) water C) air D) food
HIV 8 oed8o

A) S35 Ko B) & C)med D) es5t50

The admission of a HIV infected child in a school should be along with the
A) Other normal children

B) Should not be along with the other normal children

C) should be admited in spl schools

D) should not be admitted in schools at all

HIV 883 ook Jrdzeas® 3&3&3 Qeedo

A) 888 Srduren doo I8 B) 888 Srdmren doo 88 soHowe
C) @’Jé?gé oI SToN %363&0 D) esden Jesmeed® 3&3%‘50"(‘5)
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The weight of the brain in the total weight of body is
A) 2% B) 3% C) 4%

F080 RnFo HHE® 08 HR SoSretH?
A) 2 &0 B) 8 =50 C) 4 =0

The surface area of the cerebrum is increased by

A) axons B) dendrites C) myelin sheatns
S5oy0 GBS FTergl) HB B2D?

A) bs;éaen B) Go@eSen C) OIS &iden
Nissil granules occur in

A) eosinophil B) Neutrophils C) cellbody
QS Belen Mo Eegoen

A) ad58Sy B) $mge5*98y  C) eé¥es deo
The hormone that helps in the inplantation of embryo
A) testosterone  B) insulin C) prolactin
foled @e‘B@;ééé K5CHHE 5:66‘9&263

A) B8 B) SRS C) @PergS
Auxins in plants are synthesized at

A) nodes B) petiole C) meristems
3008, 8" 9818w Saeeh eddys Koo

A) SenHen B) eshsecsen C) Deoesgesoen

D) 5%

D) 530

D) gyri

D) 76

D) Lymphocytes

D) &g%neden

D) Progesterone

D) @radoes

D) internodes

D) e SaeSg a0

The ability of a plant cell to give rise to a whole plant is called
A) quantum energy B) Energy currency  C) totipotency D) explant

28 I, Ees0 g B 8o 8 deooerd?
A) BP0 8 B) oléééaé% C) ﬁé@“@ﬁa

Root part is represented in mature embryo by
A) Primary stem B) radicle C) chalaza

3o 3363&26 oo IH 23T OSSN,
A) B85 oo B) $&% Koo C) ererer
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D) 28y3r05

D) cotyledons

D) Descsgoen
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External fertilization occurs in

A) frog, rat B) crow, fist C) snakes, fish D) frog, fish
2°eRg HOELR0 23872 220805en

A) 5y, dens B) =8, % C) e, 2% D) 85y, 8

The kilocalories of energy released from one gram of fat is
28 (rdn g Dhde da 88° Swde #8

A) 5.49 B) 4.49 C) 9.45 D) 5.94

In the body excess fat is stored in

A) heart B) skin tissue  C) gall bladder D) adipose tissue
F0808° whEomr oG 58] 808 06 e’ Dens BoHatdeob ?

A) 03 B) SE)seaezeo0 C) dzeiaho D) e9&%E Sevazew0

Vitamin B, deficiency causes
A) Glossitis B) pellagra C) scurvy D) Beri beri
DENS &, &Ho Lo 8OR 96 ?

A) el B) 2er@e C) 885 D) 30838

Beri beri was caused in japanese sailor who were eating

A) ground nut B) eggs C) unpolished rice D) polished rice
N Seego 808 aPS BF TIHS® oA Togh LOACL BOJ0H?

A) S5 B) 9

C) 30R 5053?350 é)o&go D) 0% 328 é’)oﬁa?go

Vitamins are

A) Macronutrients B) Micro nutrients

C) essential amino acids D) non essential amino acids

QeIN0en

A) "mge) 8 soen B) mogé 8 seen

C) esssisy AR’ e9keen D) eomessigs AR’ e9kzeen

The volume of CO, present in the atmosphere is

mdSP ?6235 G esg‘;)& TS50 Qo570
A) 0.3% B) 0.03% C) 30.% D) 3%
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100. Which cells are destroyed in AIDS?

A) monocytes B) Neutrophils

C) Lymphocytes D) Erythrocytes
o Aok T5eS° $308 &Y Keroew

A) 5?56}_3630 B) 265°§@3‘53350

C) 9o5e5 D) 25y emen

VNI TIRD

0l)D 32)D 53)D 954)D 55)C 56)B
o)A B98)A H9A 60)B 61)A 62)B
63)B 64)C 69)B 66)D 67)A 68)D
69)C TW)B T)D TWR)C T3)C T4)B
C T)C TNHC A T1)B 80)D
8)A 8)D 83)A BLHA B8)A 8HA
8O)D 83 C 8D 90)C 9g)C RN)B
98)D H)C 9)D 96)B 9D 9W)B
99)B 100) C
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